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b) A constant water level is to be maintained in a boiler.
Suggest a suitable automatic level control system with a
block dizgram and explain its working,.
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8. Write a short note on any two of the following:

a) Barometer

b) Potentiometer

¢) Venmrimeter

d) Impulse function
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Instrumentation and Control
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Note: i) Atempt any five questions.
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ii) All questions carry equal marks,
it weEl & I 3 )
iii) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Explain various elements of a measurement system.
oo Wonedt & fafis awl 6 ansar Hifg)
b) Explain Static Performance Characteristics with diagrams?
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2. a) Theaccuracy of pressure gauge of range 1000 kXN/sqg.m is

stated to be £1% of full scale deflection. What would be
the possible readings if the pressure is 100 kKN/sq.m. How
these results would get modified if the error 15 specified
as 1% of true value.
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Explain briefly about:

1) Fidelity

11} Speed of response
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Explain briefly about harmonic signal and non harmonic
signal system?
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Describe briefly about first and second order in
measurement system with suitable examples.
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Explain the working of glass thermometer with diagram.
What are its advantages and limitations?
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Discuss about the following:

i) Thermistor

ii) Bi-metallic strip.
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Explain with diagrams, Why are two different mctals
required in a thermocouple?
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What is bellows gauge? Explain the working of Bellow
gauge with suitable diagram and give its applications.
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Describe the pninciple of operation of a Piczo-clectric
transduccr. Discuss about the different applications of it.
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A 150 ohm Strain Gauge is bonded to a steel bar which is
subjected to a tensile load. Cross sectional area of the
bar is 0.5 % 10 sq.m. and Youngs modulus for the bar
material is 200 GN/sq.m. If a load of 60 kN produces a

change of 1.5 Ohm in the gauge resistance, determine
the gauge factor of the gauge.
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Explain about closed loop system. Give the advantages
af a closed loop system.
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